T3 55 £ BN 1 5k SERR304E10 H 1 BLE
L) % 5 LS aak | KR i) Za 5 LS aab | R i) 4 5 S aab | R L 5 LS aEt | R
R B 206 218 424 196 B XoxH 2 EK 337 356 693 281 if A H K7 &N 0 0 0 0 FEREAS T 3 FHT 2 £ X 71 84 155 67
R 374 359 733 422 Ji B 959 | 1,084 | 2,043 843 I &t 531 545 | 1,076 340 FEREAS T 3 FKHT 3 £ X 88 111 199 94
HZW 96 143 239 126 1 585 623 | 1,208 519 B 155 170 325 139 FEREAS T 3 FHT 4 £ X 189 218 407 177
LTS 37 43 80 34 ESIGER 246 229 475 272 e 66 82 148 56 SRS o 4 0T 1 X 84 96 180 84
ARHT 30 38 68 30 D 684 739 | 1,423 643 H=F 29 41 70 36 FEREAS [T 4 FKHT 2 5 X 113 116 229 90
T 43 76 119 70 /N 68 95 163 60 i 2R 350 408 758 300 KSR N o 4 FWT 3 X 85 84 169 96
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